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SHTELAIE NS RMBEIRIIBET

(Bhr:F)
B =l NIEEWNEELE| BASE & F fie &
I —ARIEBRBAEEIBRDER
1 REEROIR
(1) BRI
O EXBEERL 0 110, 000 110, 000
BB ZEF A 0 110, 000 110, 000
@ HEEEERL 779, 000 0 779, 000
5 e A EVF A 779, 000 0 779, 000
Q HFENE 185, 135,000{ 10, 885, 000 196, 020, 000
7 R {5 FR 173, 835,000 10, 885, 000 184,720, 000
ZEY RS R 151,215,000 10, 885, 000 162, 100, 000
ZEURE 4 — 3 7 IUE R 22,620, 000 0 22,620, 000
ZEH 2 E 11, 300, 000 0 11, 300, 000
@ HUNZE 790, 000 0 790, 000
HEINZS 790, 000 0 790, 000
HEBUNESET 186, 704, 000{ 10, 995, 000 197, 699, 000
(2) RBREER
D HXEH 175, 200, 000 0 175, 200, 000
% B SR 6, 300, 000 0 6, 300, 000
B EAAR 16, 470, 000 0 16, 470, 000
BEFYE 9,090, 000 0 9,090, 000
IRBA A B 1,017,000 0 1,017,000
BHELE 5,220,000 0 5,220, 000
s 150, 000 0 150, 000
BIEERE 50, 000 0 50, 000
BUTERE 57, 400, 000 0 57, 400, 000
HREAR 130, 000 0 130, 000
HELE 500, 000 0 500, 000
IEREE 29, 000, 000 0 29, 000, 000
ENRIEAE 150, 000 0 150, 000
WBKE 13,971, 000 0 13,971, 000
=3 400, 000 0 400, 000
Bk 427,000 0 427,000
NERE 21, 850, 000 0 21, 850, 000
& 50, 000 0 50, 000
LR EOR 20, 000 0 20, 000
B 13,000, 000 0 13, 000, 000
ALK 5,000 0 5,000
Q@ BEE 0] 10,995,000 10, 995, 000
% B SR 0[ 1,300,000 1,300, 000
BB 0 1,830,000 1, 830, 000
BMEFYE 0| 1,010,000 1,010, 000
IRBHA A B 0 113,000 113,000




(BEA7: M)

4 H RIEENEERE| EARE & &t fE &
EHEEE 0 580, 000 580, 000
ES 1 0 200, 000 200, 000
& 0 350, 000 350, 000
BfEERE 0 350, 000 350, 000
BAENE 0 400, 000 400, 000
fRmEAR 0 80, 000 80, 000
HERE 0 600, 000 600, 000
IR SAE 0 450, 000 450, 000
HEKE 0 329,000 329,000
BEfER 0 450, 000 450, 000
ERER R 0 73,000 73,000
e 0 400, 000 400, 000
RERE 0f 1,730,000 1,730,000
NRE 0 150, 000 150, 000
=Eizk 0 250, 000 250, 000
SXIAFER 0 350, 000 350, 000
RHREME 175, 200, 000{ 10, 995, 000 186, 195, 000
SR A S EE R IRIRAR 11,504, 000 0 11, 504, 000
EARMET SRS 0 0 0
AHERmEST 0 0 0
HEEEIRRER 11, 504, 000 0 11, 504, 000
2 EEINMEBDER
(1) BEENHN&
RENMNmE 0 0 0
(2) BRENER
RENERET 0 0 0
HEREIMERER 0 0 0
HHA—ARIELREA RE S RER 11, 504, 000 0 11, 504, 000
—RRIEREAEER B RS — — | 2,170,905, 411
—HRIEPRBAEEEAR A= — — | 2,182,409, 411
1ERE IEMREAEEIRIRL D ER
EARMEERR 110, 000 — 110, 000
EXRMEERR 110, 000 — 110, 000
—HRIEPRBAEE A\ DIREER A 110,000 — A 110,000
—HRIEPRBAEE A\ DIREER A 110,000 — A 110,000
4 HA¥E B LEPRRA EE R RIER 0 - 0
EEERMEREARS — — 20, 000, 000
tEE IEMRBAEEEAR A= — — 20, 000, 000
IEREAERIARAS — — | 2,202,409, 411




